RZ2-70-2

Moa. Ne HaunmenoBanune udp nerann EUR
K2 67.%  Kpsimka RZ1-70.00.00.19-K RZ1-70000019k 0,33
68.  Bunt M4x16 SPEZ 17zn 215785-A 0,01
69. Bunr M4x12 DIN 84 216604-A 0,01
70.  Ilaiiba M4 DIN125 215257-A 0,01
71.  llaii6a npyxuaHas M4 DIN127 215258 0,03
S1 72.  Ilpyxwuna IE-5708-0130-003 57080130003 0,11
S2 72.  Ilpyxuna IE-5708-0130-003-02 57080130003-02 0,06
73.  Ocs IE-5708-0130-002 57080130002 0,07
74. Taiika M4 DIN934 215003 0,03
S1 75.  O6oiima merkonepxarens IE-5708-0130-001 57080130001 0,33
S2 75.  Ob6oiima merkonepxarens [E-5708-0130-001-02 57080130001-02k 0,24
S1 76.  Illerka IE-5107.0260.000-01 (6,3x10) 51070260000-01 0,28
S2 76.  Ilerka IE-5107.0260.000-02 (7,1x11) 51070260000-02k 0,26
77.  laii6ba npyxunnas M3 DIN 127 215255-G 0,03
78.  Bunt M3x8 DIN 84 216636-A 0,01
79.  Pyxostka RZ1-70.00.00.28 RZ1-70000028 0,50
80. Taiika M6 DIN 934 215004-A 0,01
81.  Bunr M6x20 DIN 965 216318-A 0,04
82.  Illaiiba M6 DIN 125 215253-A 0,01
83. T aiika cnenumansHas RZ1-70.07.00.00 RZ1-70070000k 0,18
84.  Ilpwxum RZ1-70.00.00.35A RZ1-70000035A 0,09
85.  bonr M6x20 DIN 999 215431 0,04
86. Taiika cienmanbaas SU2.00.00.00 SU2000000 0,14
87.  Illaiiba M6 DIN 125 215253-A 0,01
88.  Bunt M4x16 SPEZ 17zn 215785-A 0,01
89.  Vxkazarens nuinenus RZ1-70.00.00.52 RZ1-70000052 0,14
90. Koy SW6 DIN 911 300503 0,18
91.  Kiou IE-2106-0600-000 21060600000 0,14
92.  Kommencarop IE-5107.0200.008 51070200008k 0,06
93.  Ilaiiba M3 DIN 125 215255-M 0,01
VY3.ibl B chope
S1 I Ierxonepsxarens IE-5708-0130-000 57080130000 0,54
S2 I.  Hlerxonepxarens IE-5708-0130-000-02 57080130000-02k 0,28

15



